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6. Let  be the finction defined above. Which of the following statements about  are true?
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77, The figure above shows the graph of a fction f with domain 0<.x <4, Which of e
following statements are re?
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9. The function f is continuous for 2= 2 and (- 0. Tfthere s no e, where

~2<e <2, for which f(¢)=

-2
. which of the following satements st be frue?

@ For 2<k<2, £(K)>0.
@ For 2<k<2 /(K <0

(©For 2<k<2. 7'(k) exists

(D) For -2<k <2, f'(F) exists. but " is not contimons.

(B) For some k. where ~2<£ <2, (k) does not exist.
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For x 2 0, the horizonalline y = 2 is an asymptots forthe graph o the function . Which of the following
satements must bt
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13. The graph of a funcion f i shown above. At which valusof x i f continious, but not diferntiable?
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20. Let f be the function given above. Which of the following statements are true bout f ?

L lgf(x) exists.
IL f is continuous at x = 3.
TIL f is cifferentableat = 3,
(A) None
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79. For whichof the Following does Jiy £ (5)exist?
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. N 1-2sinx forxs0
6. Let f bea function defined by f(x) =1 _,
o forx > 0.

(2) Show that f is continuous at x = 0.



 [image: image7.png]Free Response 20118 #2 Calculator Active:

2. A 12.000-ier tank of water s filled 1o capaciy. AL ime ¢ = 0 wler begins 0 i UL ofthe tnk at e
modeled by r(r). measured n s per our, where 7 i iven by he piccewisedefined funciion
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(@) T cotinuous at 1= 52 Show the work that lescs o your answer,
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6. Let  be the function gi B el x> 0. The deivative of s given by (1)

aty 1)

@ Find lim_f(x)
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6. Let f be the fun

ion defined by

o [NEET frosxss
!(x):J <

[5-x for3<xss.

uous at x = 32 Explain why or why not.
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Given the function £ (x)

() What are the zetos of /(x)?
(b) What are the vertical asynpotes of f(x)?

(¢) The end behavior model of £(x) is the function g(x). What is g(x)?

@ Whatislim /()7 Whatislim /(>

== g(x)




